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Completing the Square Graphit
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Warmup - make sure name is on it
You are turning this in

k:omplete the square error analysis
Robbie factored x2 + 12x + 7 = 0 using the complete the square method. His

work is shown below. Is his answer correct? If not, correct and explain what you
4 are doing to correct him.

Robbie’s Work!

Your Work!
x*+12x=7

x2+12x+36=7

(x+6)2=7
VGrey =7
x+6=+V7

My answer is 6 + V7
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GSEAlgebral 8.6 - Complete the square notes Name:

Factor the following.
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We are going to use the €) x+6x

el ererr x+5')(x8)
complete the square. Use
your imagination. D) x* +8x+16
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3.) x2 + 2x isn't a complete square.
How much do we need toadd toit to
"complete” it?
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7.) Have you found a patternyet? 8.) Complete the squares:
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Practice completing the square.
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